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cevap: d 

2. 24 + 25 – 26 = 24⋅(1 + 2 – 22)
= 16⋅(3 – 4)

= 16⋅(– 1)

= – 16 dır.

cevap: b 
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cevap: b 
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cevap: d 

5. (– 2–1)–2 üs çift olduğundan sonuç pozitif-
tir. Buradan
(– 2–1)–2 = +22

= 4 dür.

cevap: d

6. (0,00032)⋅(25)4 = 32⋅10–5⋅(52)4

= 25⋅5–5⋅2–5⋅58

= 20⋅53

= 125 dir.

cevap: e

7. (–23)2 + (–22)3 = 23⋅2 – 22⋅3

= 26 – 26

= 64 – 64

= 0 dır.

cevap: c 
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cevap: d
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cevap: b
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13.	
24

26 3 3 3 8 3
24

26
3

1
27

3 8
27

24

26
3

3 9
27

24
27
3

3

1 3 3

1

3

⋅ + + + ⋅
=

+ + +

=

+ +

=
+

− − −

==

=

24
12
2 dir.

cevap: b

14.	

− −













 ⋅ −

=
− −

⋅ −

−
−

−
−

− − −

− −

3 1
3

1
2

8

3 3
2 8

4
3

3
1

4 1 3

1 3

:

( )

: ( )
( ) ( ))

:

.

−

−

−

−

−

−

−

=
− −

⋅ −

=
− ⋅

=
−

= −

= −

1

4 3

3 1

7

3 3

7

0

7

7

3 3
2 8
3
2 2
3
2
3
1
3
dir

cevap: a



256

ÜSLÜ SAYILARTEST: 1
ÇÖZÜM

ÜSLÜ SAYILARTEST: 1
ÇÖZÜM

15.	

( , ) ( )

( )

0 0625 5 2
1
2

2

5 10 5
5
2

1
4

1
2

4 4
1
4

1

− −

− − −

+ ⋅ +





 + −

= ⋅ + ⋅ 





 ++

= ⋅ + ⋅ +

= + +

= + +
=

−

4

5 10 5
2
5

4

10
5

2 4

2 2 4
8

1

dir.

cevap: e

16.	
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27 243

27
243
3
3

3
3
3

3
1
27

4 3

4

3

3 4

5 3

12

15

12 15

3

= ⋅

=

=

=

=

=

=

−

−

x

x

x

x

x

x

x

( )
( )

cevap: e

18.	 2n + 2n+1 + 2n+2 = 2n⋅(1 + 2 + 22)
                         = 2n⋅7 dir.

cevap: d 

19.	 29⋅57 = 22⋅27⋅57

         = 4⋅(2⋅5)7

         = 4⋅107

Sayısı 7 + 1 = 8 basamaklıdır.

cevap: c

20.	 325⋅813⋅647⋅6255 = 225⋅312⋅242⋅520

                           = 225⋅312⋅222⋅220⋅520

                           = 247⋅312⋅1020

olduğundan sondan 20 basamağı sıfırdır.

cevap: a 




